LR SFAREHRERS

TFERza—RE

21.0975km  (#BEN—735UrABa—2R)

X | hE 5 i

E1X | 6.0000km [HEEEFREE=7VY =y BIE50m

FIX [4.0975km [ =y )BT 0m=> O RE

F3X | 3.0000km [T ARE=KILET £ R200mE WY EL = 303K 5 KA
4K | 3.0000km |61 kK35 R KB = BB R 2 = 8 50m

F5X | 5.0000km | E#ERE R F50m= HREE LG

it
EFH
28—
B, neen
KIK el - 2 #JEFF]
O | | SEAEH s
< _Ra1z_®® R4se — i

i
E %
b
)
‘r
B
\/
@B

1 S
= - -~
(Il & & 3
; A 5 1 # th
c—:—:q%#:—:—:—z km m m ] 2 [
- = 15
—\ ;I; I = S 1
: ST
K K2 FI 4
EEN il *zirjp % E EHh
ye
EAZFIEE ~ 0] 3
. i A X =
Ta=via # h =
RBA—k (N RRL—IBHhEAR) r i q,
FSusEIEE 2BEYIRMLYEBRA~ R -r o
K \
S4=yia 3T il
ERMEYAYNSYIES A 4ABEYT1=ya E,l L)L & || we
(10.673km)
RB—F izl
[Ce ]
\/
TFERzI—ATEE \
A ~ = = 7 E%M
th B th =] =
AT A iR B i oA
(m) l; N
L e e it B I B e et B e e e
0
_10 ————————————————————————————————————————————————————————————————————————————————————
Okt —— ] /— ....................
s e e R T e i e e e S i S T R T e i e T s i e

(0] 1 2 3 4 S5 6 7 8 9 /10 11 12 13 14 15 16 |17 18|19 20 21 (km)
1=X 2 33X a4X S5X

TN



